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Question: 1

Refer to the OSPF command exhibit.

Which effect does the no-summary command option have?

A. It will cause area 1 to be able to receive non-summarized inter-area routes.
B. It will cause area 1 to not receive any inter-area routes and will use a default route to reach
networks in other areas.
C. It will cause area 1 to not receive any external routes and will use a default route to reach the
external networks.
D. It will convert the NSSA area into a NSSA totally stubby area.
E. It will convert the stubby area into a NSSA.
F. It will disable OSPF auto-summary.

Answer: B
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Question: 2

When troubleshooting OSPF neighbor errors, which three verification steps should be considered?
(Choose three.)

A. Verify if neighboring OSPF interfaces are configured in the same area.
B. Verify if neighboring OSPF interfaces are configured with the same OSPF process ID.
C. Verify if neighboring OSPF interfaces are configured with the same OSPF priority.
D. Verify if neighboring OSPF interfaces are configured with the same hello and dead intervals.
E. Verify if neighboring OSPF interfaces are configured with the same area type.

Answer: A, D, E

Question: 3

On Cisco IOS XR Software, which set of commands is used to enable the gi0/0/0/1 interface for OSPF
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in area 0?

A. interface gi0/0/0/0
ip address 10.1.1.1 255.255.255.0
!
router ospf 1
network 10.1.1.1 0.0.0.0 area 0
B. interface gi0/0/0/0
ip address 10.1.1.1 255.255.255.0
!
router ospf 1
network 10.1.1.1 255.255.255.255 area 0
C. router ospf 1
area 0
interface GigabitEthernet0/0/0/1
D. interface gi0/0/0/0
ip address 10.1.1.1 255.255.255.0
ip ospf 1 area 0
E. router ospf 1
address-family ipv4 unicast
interface GigabitEthernet0/0/0/1 area 0
F. router ospf 1
address-family ipv4 unicast
interface GigabitEthernet0/0/0/1
area 0

Answer: C

Question: 4

Which three statements are true regarding the OSPF router ID? (Choose three.)

A. The OSPF routing process chooses a router ID for itself when it starts up.
B. The router-id command is the preferred procedure to set the router ID.
C. If a loopback interface is configured, its address will always be preferred as the router ID over any
other methods.
D. After the router ID is set, it does not change, even if the interface that the router is using for the
router ID goes down. The router ID changes only if the router reloads or if the OSPF routing process
restarts.
E. In OSPF version 3, the OSPF router ID uses a 128-bit number.

Answer: A, B, D

Question: 5

Which two OSPF network scenarios require OSPF virtual link configuration? (Choose two.)
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A. to connect an OSPF non-backbone area to area 0 through another non-backbone area
B. to connect an NSSA area to an external routing domain
C. to connect two parts of a partitioned backbone area through a non-backbone area
D. to enable route leaking from Level 2 into Level 1
E. to enable route leaking from Level 1 into Level 2
F. to enable OSPF traffic engineering

Answer: A, C

Question: 6

What is function of the RP/0/RSP0/CPU0:PE1(config-ospf)#distance Cisco IOS-XR command?

A. To modify the administrative distance of the OSPF routes
B. To modify the default seed metric of the OSPF external routes
C. To modify the OSPF default reference bandwidth
D. To modify the OSPF cost

Answer: A

http://www.cisco.com/en/US/docs/ios_xr_sw/iosxr_r3.8/routing/command/reference/rr38ospf.pdf

Question: 7

Which four statements are correct regarding IS-IS operations? (Choose four.)

A. By default, Level 1 routers within an IS-IS area do not carry any routing information external to the

http://www.cisco.com/en/US/docs/ios_xr_sw/iosxr_r3.8/routing/command/reference/rr38ospf.pdf
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area to which they belong. They use a default route to exit the area.
B. Summarization should be configured on the Level 2 routers, which injects the Level 2 routes into
Level 1.
C. IS-IS supports "route leaking" in which selected Level 2 routes can be advertised by a Level 1/Level
2 router into Level 1.
D. The IS-IS backbone is a contiguous collection of Level 1 capable routers, each of which can be in a
different area.
E. With IS-IS, an individual router is in only one area, and the border between areas is on the link that
connects two routers that are in different areas.
F. Cisco IOS XR Software supports multitopology for IPv6 IS-IS unless single topology is explicitly
configured in IPv6 address-family configuration mode.

Answer: A, C, E, F

http://www.cisco.com/en/US/docs/ios_xr_sw/iosxr_r3.0/routing/configuration/guide/rc3isis#
wp1148617
Single-Topology IPv6 Support
Single-topology IPv6 support on Cisco IOS XR software allows IS-IS for IPv6 to be configured on
interfaces along with an IPv4 network protocol. All interfaces must be configured with the identical
set of network protocols and all routers in the IS-IS area (for Level 1 routing) or the domain (for Level
2 routing) must support the identical set of network layer protocols on all interfaces.
When single-topology support for IPv6 is used, only narrow link metrics, also known as old-style
type, length, value (TLV) arguments, may be employed. During single-topology operation, one
shortest path first (SPF) computation per level is used to compute both IPv4 and IPv6 routes. Using a
single SPF is possible because both IPv4 IS-IS and IPv6 IS-IS routing protocols share a common link
topology.
Because multitopology is the default behavior in the software, you must explicitly configure IPv6 to
use the same topology as IPv4 in order to enable single-topology IPv6. Configure the single-topology
command in ipv6 address family configuration submode of the IS-IS router stanza.
Multitopology IPv6 Support
Multitopology IPv6 support on Cisco IOS XR software differs from Cisco IOS software in that IS-IS
assumes that multitopology support is required as soon as it detects interfaces configured for both
IPv6 and IPv4 within the IS-IS stanza.
You must use the metric-style wide command to configure IS-IS to wide link metrics as multitopology
link advertisements.

Question: 8

When configuring IPv4 and IPv6 IS-IS routing on Cisco IOS XR routers, which three statements are
correct? (Choose three.)

A. By default, a single SPF is used for both IPv4 and IPv6, so the IPv4 and IPv6 topology should be the
same.
B. By default, the IS-IS router type is Level 1 and Level 2.
C. All IS-IS routers within the same IS-IS area must be configured with the same IS-IS routing process
instance ID.
D. By default, metric-style narrow is used.
E. By default, the IS-IS interface circuit type is Level 1 and Level 2.

http://www.cisco.com/en/US/docs/ios_xr_sw/iosxr_r3.0/routing/configuration/guide/rc3isis.html#wp1148617
http://www.cisco.com/en/US/docs/ios_xr_sw/iosxr_r3.0/routing/configuration/guide/rc3isis.html#wp1148617
http://www.cisco.com/en/US/docs/ios_xr_sw/iosxr_r3.0/routing/configuration/guide/rc3isis.html#wp1148617
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F. The area IS-IS address-family configuration command is used to specify the IS-IS area address.

Answer: B, D, E

The default metric style for single topology is narrow metrics. However, you can use either wide
metrics or narrow metrics. How to configure them depends upon how single-topology is configured.
If both IPv4 and IPv6 are enabled and single-topology is configured, the metric style is configured in
the address-family ipv4 stanza. You may configure the metric style in the address-family ipv6 stanza,
but it will be ignored in this case. If IPv6 only is enabled and single topology is configured, then the
metric style is configured in the address-family ipv6 stanza.
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Question: 9

Refer to the PE1 router routing table output exhibit.

What is causing the i su 10.1.10.0/24 [115/30] via 0.0.0.0, 00:40:34, Null0 entry on the PE1 router
routing table?

A. The PE1 router is receiving the 10.1.10.0/24 summary route from the upstream L1/L2 IS-IS router.
B. The PE1 router has been configured to summarize the 10.1.10.x/32 IS-IS routes to 10.1.10.0/24.
C. The 10.1.10.0/24 has been suppressed because IS-IS auto-summary has been disabled on the PE1
router.
D. The 10.1.10.0/24 has been suppressed because of a route policy configuration on the PE1 router.
E. The 10.1.10.0/24 has been suppressed because the more specific 10.1.10.x/32 IS-IS routes have
been configured to leak into the IS-IS non-backbone area.

Answer: B
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Question: 10

In comparing IS-IS with OSPF, a Level-1-2 IS-IS router is similar to which kind of OSPF router?

A. ASBR on a normal OSPF area
B. ASBR on NSSA
C. ABR on totally stubby OSPF area
D. ABR on stubby OSPF area
E. ABR on a normal OSPF area

Answer: C

Question: 11

Refer to the topology diagram in the exhibit.
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Which IS-IS feature could be implemented so that the return path for the packets from router Y in
area 49.00AA to router X in area 49.00BB will use the more optimal path?

A. Enable route leaking to pass Level 2 information into the Level 1 routers.
B. Change the area 49.00AA type from a stub area to a regular area.
C. Change the IS-IS administrative distance on router Y in area 49.00AA.
D. Change the IS-IS metric type from narrow to wide on all IS-IS routers.

Answer: A

http://www.cisco.com/application/pdf/paws/13796/route-leak.pdf
The IS−IS routing protocol allows for a two−level hierarchy of routing information. There can be
multiple Level 1 areas interconnected by a contiguous Level 2 backbone. A router can belong to Level
1, Level 2, or both. The Level 1 link−state database contains information about that area only. The
Level 2 link−state database contains information about that level as well as each of the Level 1 areas.
An L1/L2 router contains both Level 1 and Level 2 databases. It advertises information about the L1
area to which it belongs into L2. Each L1 area is essentially a stub area. Packets destined for an
address that is outside of the L1 area are routed to the closest L1/L2 router to be forwarded on to the
destination area. Routing to the closest L1/L2 router can lead to sub−optimal routing when the
shortest path to the destination is through a different L1/L2 router.
Route leaking helps reduce sub−optimal routing by providing a mechanism for leaking, or
redistributing, L2 information into L1 areas. By having more detail about inter area routes, an L1
router is able to make a better choice with regard to which L1/L2 router to forward the packet.

Question: 12

http://www.cisco.com/application/pdf/paws/13796/route-leak.pdf
http://www.cisco.com/application/pdf/paws/13796/route-leak.pdf
http://www.cisco.com/application/pdf/paws/13796/route-leak.pdf
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Refer to the exhibit.

Which two configuration options can be used to optimize the IS-IS network scenario? (Choose two.)

A. Change the R1 and R2 IS type to Level 2.
B. Change the R1 and R2 IS type to Level 1.
C. Change the gi0/0 interface IS-IS circuit type on R1 and R2 to Level 2 only.
D. Change the gi0/1 interface IS-IS circuit type on R1and R2 to Level 1.
E. Change the IS type for all the routers to Level-1-2.
F. Change the IS-IS network type for all the routers to point-to-point.

Answer: C, D

Question: 13

The Cisco IOS XE Software summary-address router IS-IS configuration command can be used to send
a summarized route into which IS-IS hierarchy?

A. Level 1 only
B. Level 2 only
C. Level-1-2 only
D. Level 1 or Level 2 or Level-1-2

Answer: D
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Question: 14

Refer to the Cisco IOS XE IS-IS configuration exhibit.

What are two problems with the configuration that are causing the IPv4, or the IPv6, or the IPv4 and
IPv6 IS-IS operations to fail? (Choose two.)

A. The configuration is missing the interface gi0/0 and interface gi0/0 commands under router isis 1.
B. The configuration is missing the address-family ipv4 unicast and address-family ipv6 unicast
commands under router isis 1.
C. IPv6 unicast routing has not been enabled globally on the Cisco IOS XE router.
D. The gi0/0 and gi0/1 interfaces are not participating in the router isis 1 routing instance.
E. Multitopology IS-IS must be enabled to support both IPv4 and IPv6.



Questions & Answers PDF Page 13

https://www.certkillers.net

F. Another router isis instance must be enabled to support IPv6.

Answer: C, D

http://www.cisco.com/en/US/docs/switches/metro/me3400/software/release/12.2_50_se/configur
ation/guide/swipv6.pdf
• When using user-network interface (UNI) or enhanced network interface (ENI) ports for any
IPv6-related features, you must first globally enable IP routing and IPv6 routing on the switch by
entering the ip routing ipv6 unicast-routing

Question: 15

In which network environment is IS-IS adjacency check important?

A. in a multitopology environment where there are different instances of IS-IS running on the same
router
B. in an IPv4/IPv6 environment and running single-topology IS-IS
C. when a level L1/L2 IS-IS router is neighboring with a Level 1 only or Level 2 only router
D. when IS-IS neighbors are in an NBMA environment like over Frame Relay
E. when IS-IS neighbors are in a broadcast environment like an Ethernet LAN

Answer: B

http://www.cisco.com/en/US/docs/switches/metro/me3400/software/release/12.2_50_se/configuration/guide/swipv6.pdf
http://www.cisco.com/en/US/docs/switches/metro/me3400/software/release/12.2_50_se/configuration/guide/swipv6.pdf
http://www.cisco.com/en/US/docs/switches/metro/me3400/software/release/12.2_50_se/configuration/guide/swipv6.pdf


Questions & Answers PDF Page 14

https://www.certkillers.net

Thank You for trying 642-883 PDF Demo

To Buy Latest 642-883 Full Version Download visit link below

https://www.certkillers.net/Exam/642-883

Start Your 642-883 Preparation

[Limited Time Offer] Use Coupon “CKNET” for Further discount
on your purchase. Test your 642-883 preparation with actual exam

questions.


